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Questions : 1 to 50

1.

!\’1
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If 'MERCURY' is written as
'FGAECAB' in a code then how would
'CURE' be written in the same code ?
(1) GCFI (2) ECAB

(3) ECAG (4) EAGC

Which one of the answer figure would
occupy the next position in the
problem figure, if they continue in the
same order ?

Problem Figures :

X - X X — X

(D (2 (3) (4)
One segment of  the given
des#ign/pattern is missing. Select the

alternative which will complete the

design when placed on the missing area.

L €] @2 - 3 (4)

PART -1 (T -1)
MENTAL ABILITY TEST
dife® F7gar e

afe frdl widfos w1 § ‘MERCURY!
F 'FGAECAB' forar smar & & I
aqrr # 'CURE' B9 gt forar smem ?

(1) GCFI (2) ECAB,
(3) ECAG (4) EAGC

afe e A ®9E & @ geq dl
SR FH O IO SngiE § & BE-E

gt T g ?
quET giaar ¢
X
X X ?
Fav ot
X _ ||l=X X —||X

GV I ) (3 .
Ru My e /afuEe B ST g9
¥ 39 PBew @ g o g9 ®F W
@A I AH /A F G BT A

(D (2) (3) @
P.T.O.
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Cc (4) -
4, If ' stand for division, '+ for 4, 3R~ F ad 9, o+ | aom, '+ q 9q
multiplication, '+' for subtraction and agr 'x' g \‘:ffg 2 ar Pyt & § 39
'x' for addition, which one of the 1 HET TE B 7
following equation is correct ?
(1) 6+20x12+7-1=170 (1) 6+20x12+7-1=70
(2) 6+2Q—12-:-7x1=62 (2) 6+420-12+7x1=62
B) 6—-20+12x7+1=57 (3) 6-20+12x 7+ 1=57
¢
4y 6+20-12+7-1=238 (4) 6+20-12+-7-1=38
Directions : (Q. No. 5 & 6) fdsr « (957 Ho 5 4T 6)
Find thé missing number/numbers in the e m dem @ H g e /aEna #
series. gifena |
5. 2,65,7,59 12, 53,77 5. 2,65,7,59, 12, 53,27
(1) 15, 42 (2) 17, 45 (1) 15, 42 (2) 17, 45
(3) 17, 47 (4) 18, 48 (3) 17, 47 (4) 18, 48
6. 5255, 5306, ?, 5408, 5459 6. 5255, 5306, ?, 5408, 5459
Q) 5057 @) 5357 (1) 5057 @) 5357
(3) 5257 (4) 5157 (3) 5257 (4) 5157
7. If 7. IR
54+43=2 54 +43=2
60+ 51=10 60+ 51 =10
Then 62 + 72 = ? & 62+ 72=72
(1) 30 (2) 18 ) (1) 30 (2) 18
3) 20 4) 9 3) 20 4) 9
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(5)

8. Choose the correct mirror image of

the Figure (X) from four alternatives

given along with it. The mirror has

been represented by MN.

M
A,
X) N’

Lmt JAJ L.AJ JAJ
(D 2 @ 4

-

9. If 'REEXAMINATION' is written as
'EXAMINATIONER!' how can
'REFORMER' * be written in that
code ?

(1) REFORMRE
(2) REFROMER
(3) FORREMER

(499 FORMERER

10. Arrange the following words as per
dictionary.

(a) Live (b) Litter
(¢) Little (d) Li;grary
(e) Living

| (1) d.c,e, b, a
(2) d,b,c a,e
B) ¢,d, b,a, e

(4) ¢, b, d, e, a,
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10.

C

A (X) # o7 F I W e e
M |y Ru o oaw Redd § 7 9@
IOY ®ifew| IWor @ @ MN EN
yefdfe frar mar B

L

X) ‘N

(1 (2) (3) 4

M

L

gfz f&dt #Fe ¥ 'REEXAMINATION'
# 'EXAMINATIONER' for@r simar &
dl 3d #iT § REFORMER' % 3d
feran s 7

(1) REFORMRE
(2) REFROMER
(3) FORREMER
(49) FORMERER

= R @ 9= #t =959 & HTEAR
afed FHiferd |

(a) Live (b)- Litter

(© Little (d) Literary

(e) Living

(1) d,c,e,b,a

(2) d,b,¢c,a,e

3) ¢, d, b,a, e

(4) ¢, b,d, e a

P. T. O,
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At 12:30 the hour hand of a clock

faces north and the minute hand ~

faces south. At 2:45 the minutes hand

will be in which direction ?

(1) North-West
(2) West
(38) South-East

(4) East

Find the missing number :

20160 4
? 4
480 8
96 |24
(1). 860
(2) 1140
(3) 2880

(4) 3240

Directions : (Q. No. 13 to 15)

If a + b means a is sister of b.
a — b means a is brother of b.

a x b means a is daughter of b.

a + b means a is mother of b.
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(6)

11. IR 12:30 & 9 F I I Raw A
AT T Bee @t g3 e R & R
8@ 2:45 99 e A g3 B Ran A
S Er ?

12.

ﬁ}a"w : (9% do 13 ¥ 15)

IR a+b F-A o bR AT 2 Y

(1) SAT-9fEH

(2) uf¥Em
3) afer-gd
4 @

g« de T Hi

?

20160

4

480

96

24

(1) 860
(2) 1140

(3) 2880

(4) 3240

a-b#H 3 a,b Eﬁf%ﬂ'{%
‘axbd g a, b B G

a+b% 34 a, b F A2




13. Which of the following relationship

14.

15.

shows that | and n are wife and
husband ?

(1) 1+mxn
(2) l-mxn
(3) l1+mxn

4 l1+m-n

females does this

How

relationship shows ?

many

l+m-n+o0-pxq
(1) 2
(2 38
3) 4

(4 can't be determind

The relationship p + q — r x 8 = t
shows that :

(1) », q, r, s all are children of t.
(2) p,q,r, tall are children of s.
(3) p, q, r all are children of t and s.

(4) p,q,r, s, tall are siblings.

(7)

13.

14.

15.

c

-

frefofag T=edl & & fH-T1 @99
UHe Fa & % 1 g n oy gt B

(1) l+mxn
(2) l-mxn
3) 1+mxn

(4) 1+m-n

T gy # [ mfea § 7

l+m-n+o—-pxq
(1) 2
(2) 3
3) 4

(4) GE STEHEH Wel fRar S gl

p+q-—rxs+t T TH FC 8
B :

(1) p,q,r,sﬂﬁt%ﬁ%l
@ poort @ s D TR E
@ por @0t s D AR T
(4) p,q,r,s,tH‘ﬁﬂT%ﬂB‘T%l

fader : (e do 16 § 19)
TR Ug § aft qEen s /9 #9898

dl OF HW W SN omgfod ¥ # FM-E
i wH Qe ?

Directions : (Q. No. 16 to 19)

In each of the following questions, which one
of the answer figure would occupy the next
position in the problem figure. If they

continue in the same order.
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16. Problem Figures:

Answer Figures :

(1) (2) 3) (4)

17. Problem Figures:

0 oo} ooo]j[ococo] |

o ——9 || 0—9
——e |[o—o || o—e
e |lo—e ||0——s|lo——

Answer Figures:

000 o0 000|000 00

e e
o oo
——a | (0—8 || 0—0

(1) (2) (3 (1

18. Problem Figures:

+ O = O A
c + 0O ‘r
o+ '

Answer Figures :

s A4
pATPA'f ofA

(1) (2) (3) 4)
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16. IR FFAT
o @ oli|[0 o [ e |
o & o - ooo el | osese | 000000
IR pferr
, [
[.ﬁm“% {: : :} L e ;I [oo:oo]
(1) (2) (3) (4)
17. HHE AERAEL
o] o0 00D|| 0000
*—0
o | o ——¢
e —ll— || —3|{e—0
IaY il
000 00 000||00000
>
20— || 60—
(1) (2) (3) (4)
18. TWE SMHREl
+ O = 0 a
o+ 0O ‘T‘A
Yo+ 1
I gREl l
' |
s AN
P A4 ofA
PA#%
(1) (2 3 (4)



(9)

19. Problem Figures:

TN

-

Answer Figures:

TTIITTALLN

(1 2 (3) 4)

20. Which of the following number is

wrong in the series ?
| 3, 6, 10, 16, 21, 28
1) 16 |
(‘)
(2) 10
(3) 21
(4) 28
21. 'Sudha’ is shorter than '"Uma’, 'Neha'
is taller than 'Sudha’, 'Sudha' is taller
than 'Uma' but shorter than 'Hema'.’

'"Uma' is the taller then 'Neha'. Who is
the tallest among them ?

1) Hema
(2) Uma
(3) Sudha

(4) Neha
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19.

20.

21.

el

quE AR

THINATAATIMATLLL

IR Sghr

T

“m» @ ©® e

& T yge § IH-d e T & ¢

3,6, 10, 16, 21, 28
(1) 16
@ 10
@) 21
(4) 28
guT, I F O ¥1 e, gA A T B

g, I TG 3, WY o0 oA B
I, T A B A

(1) &
(2 I
(3) g
4 &

P.T.O.




22. How many triangles are there in the

given figure ?

(1) 16
(2) 8
(3) 14

(4) 12

Directions : (Q. No. 23 to 26)

(10)

22. & W gy A Byt # den R

g7

1) 16
@ 8
(3) 14

(4) 12

fdsr : (997 do 23 | 26)

In each of the following questions, numbers 749 T 79% 757 ¥ 0% [fgs 9 AT ZE
are written according to some patterns, and H@K}' frat ’73‘ gl 5777 g o qgagr g« g frg
one number is missing shown by question 17«9-7’/%?7 & avmar 7ar &/ TJa & ST BT
mark. Find the missing number that /4 797 [G57 & &7 97 gvgFT &l
replaces the question mark.

23. 8 .7 10 12 23. 8 7 10 12

13 12 156 17
10 9 ? 14

12
@ 10
@) 21

(4) 25

NTSE(Level-1) Exam. Nov. - 2016

13 12 15 17
10 9 ? 14

(1) 12
@ 1o
@) 21

(4) 25




4
1) 10
@) 15

(3) 20

o _
&

(1) 35
(2) 37
/7
(3) 45

(4) 47
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26.

(1) 10

(2) 15
(3) 20

(4) 25

(1) 35
(2) 37
(3) 45

(4) 47

P T. 0.
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Directions : (Q. No. 27 &.28)

The questions are based on the following

diagrams, study the diagrams carefully and

answer the questions.

27. Which of the following represents

28.

29.

boys, who are players but not singers ?

(1) A
(2) H
(3) B
(4 F

Which of the following represents

players, who are also singers but not

boys ?
(1) F (2) E
3 G (4) H

‘A’ starts from a point and walks 5 km
north, then turns left and walks 3 km.
Then again turns left and walks 5 km.
In which direction he is going now ?

(1) North
(3) East

(2) South
(4) West

NTSE(Level-1) Exam. Nov. - 2016

(12)

fder : (9% Ho 27 341 28)

T go7 [t B g omeRa &1 B &
T @ 7T FT T T F IV AT/

27.

28.

29.

TTad

Prefafed & & e 20 & w5 &
i T R, A et ooy s
T E 7
(1 A
2 H
3) B

4 F )

Frefife & & sz 0@ Rawfedt
F oA T O, W omE R § Wy
wed T ¥ 7 .
(1) F (2 E

3 G (4) H

'A' 06 ®H § 5 Bl gav Rem § amr
¥ 78 T o gEH 3 el ww R
R il @it g3a< 5 Bl aear 21 o
wRERT AT @R?

(1) &Y () i
@ @ (4) ufyEm




e

30. Thg age of Shyam is 1/3rd that of his
mother. He is 2 years older than his
sister. If the age of his sister is 8
years then what is the age of his

mother ?

(1) 25 years
(2) 60 years
(3) 48 years

(4) 30 years

b

A is D's brother. D is B's father. B
and C are sisters. How is A related to
Cc?

(1) Son

31.

(2) Grandson
(38) Father
(4) Uncle
Directions : (Q. No. 32 to 34)

In each question three statements followed
by two conclusions numbered I and II are
given, Decide which of the given conclusions
logically follows the given statement
disregarding commonly known facts. Give

answer.

(1) If only conclusion I follows
(2) Ifonly co‘nclusion IT follows
(3) If both I and II follows

(4) If neither I nor II follows

‘NTSE(Level-1) Exam. Nov. - 2016

(13)

C

30. N F Y FE WA F AG N @
fre ®1 98 oo @89 & 2 ¢ @31 R
afe Iad g8 # g 8 ¥ & A I
i @ ey et § 2

25 g4
60
48 T4
30 99

(1)
2
3
(4)

A D% 9E 21D, B & fgar 81 B qur
C a9y ¥ 984 €1 A & C q§ |
T 2 7

() 3=

(2) g

(3) ar

(4) ==

3% : (957 Ho.32 & 34)

5% U9 § & %99 a9 I 9% A P 1
g 11 Rw 1w ¥ Fudl # ¥ A gY@

31.

Ffre B Pa-ar Rar mn fFed R T FgEt

F AfPs Y § STTECT FT 8| WA & g
ae B o &1 I AR

(1) AR Faw Frepd 1 SIFERer T ®
(2) AR Faq Frepd 11 STgERer & @
(3) 3z < frepd 19 11 STgERT & €

) 3 7 @ Frepd 17 & Fspd 11 sgae
FA ¢

P.T.O.




32. Statements:

All crows are parrofs. All parrots

are doves. Some doves are cats.
Cbnclusions :

1 Some cats are crows.

11 Some doves are crows.

33. Statements:
Some desks are mirrors. Some
mirroré are chairs. All chairs are
pens.
Conclusions :
I Some pens are chairs.

IT Some pens are desks.

34. Statements:
All glasses are rivers. All rivers
arve bottles. All bottles are plates.
Conclusions :
I All plates are rivers.

I1 Some bottles are glasses.

Directions : (Q. No. 35 & 36)

A series of small letters is given which
follow a certain pattern. However some
" letters are missing from the series. You have
to find out the right set of letters from
alternatives that can be inserted into the
blanks of the series.

35. __aab_a a ba
(1) bbaab (2)_ aaabb
(3) ababa (4) babab

NTSE(Level-1) Exam. Nov. - 2016

32. FYT :
wh 3R, A ¥ A A e ¥
8 FrE fal 2 |

I@m,ﬁaﬁl Vi

%8 FrE 1 81 L

33. P :
7B 3%, 3 T FB T, R §
R 1 E

frey -

1 FB 99, g 2
%8 9, 35 ¢

34. HgT !

Ff P, TRE ¥ @R TR
A &1 el Aad, @ B

I &l @ =far 2

1138 dad, e 2

fadsr : (ve7 Ho 35 4T 36)

I aofaren 3 B el @ T HEen & .
3 o o Pt #% # R g8 o gEe |
g ¥ ool W @ d g A R
Rl & @ eifey, g R = A O &
ST G |

I

35. __aab_a_a ba o
(1) bbaab (2) aaabb
(3) ababa (4) babab




(15) C

36. hleghfegh_eghfe_ 36. h_eg_fegh_eghfe_ ; ~
(1) gfth (2) hheg - (1) gifh (2) hhgg
(3) ffigh (4) fhig (8) ffgh (4) fhig
37. Find the missing number that 37. g« dE Fa F Sogs fﬁlﬁ £
replaces the question mark. T 9T S9gE &l
25 |49 | 81 %5 | 49 | s1
5 7 ? 5 7 ?
15 13 11 15 13 11'
20 20 20 20 20 20
(1) 9 @ 3 ' (1) 9 @ 3
(3) 61 (4) 31 (3) 61 (4) 31
Directions : (Q. No. 38 to 42) fAder : (99 o 38 | 42)
Five friends A, B, C, D and E are sitting on T A B CDINE T W R E
a bench.
A is sitting next to B. A B3 O™ Je %.I
C is sitting next to D. - C,D % @¥ ¥ B
D is not sitting with E. D,E % @Y & a1 |
E is on th® left end of the bench. | E¥a 3 9% R @ F=1 ¥
C is on tHe second position from the right. CTE v | {(ﬁ W 9T 2|
A is on the right of B and E. A, BAINE & & 3T B
A and C are sitting together. ' AT CHY-a1Y I E |
38. Where is A sitting ? 38. AFF WM WIT & ?
| (1) Between B and D (1) BEOID & &= ¥
(2) Bew_/een Dand C (2 DawC 3 4= ®
(3) Between E and D (3) EUID % 9
&4) Between B and C ‘ (4) BamcC & 9= ¥

NTSE(Level-1) Exam. Nov. — 2016 P.T.O.




39.

40.

41.

42.

43.

(16)

Who is sitting in the centre ?
(1 A (2) B

3) C (4 D

C is sitting between :
(1) Band D .

(2) Aand E

(3) Dand E

(4) AandD

What is the position of D ?
(1) Extreme left

(2) Extreme right

(3) Third from left =

(4) Second from left

What is the position of B ?
(1) Second from right

(2) Centre

(3) Eﬁtreme left

(4) Second from left

Amit said, this girl is the wife of the
grandson of my mother. How is Amit
related to the girl ?

(1) Father

(2) Grand¥ather
(3) Husband

(4.) Father in law

NTSE(Level-1) Exam. Nov. - 2016

39.

40.

41.

42.

43.

g § HF FT & 7
(1 A 2 B

@ C 4 D

chadaaere?
(1) BaaD
(2) ATHE
(3) DIME
(4) ATED

D fFE & W E 7

(1) 598 @

(2) ¥4 @

(3) At X ¥ i ®F W
(4) It T A TE W W

BRRE®M®e?

(1) T AR F A WH W
) 7 #

(3) T8 a4

(4) Tt AT/ T WH T

afg ¥ Fa 5 g8 TS A A @
A & o= B o F 39 TR | A
T 2 7
(1) Rar
2) T
(3) dfer

(4) |YY




44. How many triangle are in the given

figure ?
o

/ \
(1) 16 (2) 13
3) 9 4) 7

45. In the given dice which colour is

opposite to green ?

B Black N\ Viole Green Black
= ¥ B g

£ | Violet E] Red &| Blue 5| Blue
(1) Black

(2) Blue

(3) Violet

(4) Orange *

46. Figure (X) is embedded in one of the
given four figures. Trace out the

correct alternative.

S 2 %X

- |

(X) (1) (2) 3 @

47. Which diagram represents language,
English and Hindi ?

o & A 000
(1) (2) (3) (4)
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(17)

44.

45.

46.

47.

C

& w o ¥ B @ wen R
272

(1) 16 (2) 13
3 9 4) 7

Re m o@ # & @ & Reda s9-a
wWMe?

- FXd
(1) I
(2)
(3) I
(4) gl

fr (X) Ru o o = et § & R

w & o wiRE R T ¥ oRm

S BESIE

X @ @ B @

Fe-dt R W, i @ R @
et w7

G 000
(D (2) (3) 4

P.T. O,




48. In a row of 16 girls, when 'Hema was
shifted by two place towards the left
she became 7th from the left and
what was her earlier position from
the right end ?

(1) 7th
(2) 8th
(3) 9th
(4) 10th
49. If day before yesterday was Friday,

what will be the third day after the

day after tomorrow ?
(1) Thursday

(2) Friday

(3) Saturday

(4) Sunday

50. In the given dice detect the number
that should replace the question mark
?:

3 1 4 7
6

(1) 1
(2) 5
3) 6 -
4) 3

48.

49.

50.

16 @siFAl @ oF G F o9 29 I
oF ¥ 98 v & =N Rafda Fw
P d A R Y A WA
FiEd el AR A PN/ WM W
ot ?

(1) 78
2 &
(3) 93
(4) 103
It 93 g I ¥ @ R’ e FAT

q @ wWaE F gz dErRs aE-a
2h 7

(1) geafEr

(2) gFaR
3) gfHaEr

(4) MErR

R @ & # gemEes R (7) # =
R P8 qE&A I9gF e 7

(1) 1
(2 5
3) 6
(4) 3
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L e NuHAR. ot B U 1 P HHIH 10 F AT H [GHey gy AW |

PART - II (9T - I1)
LANGUAGE TEST

Questions : 51 to 100

f@sr : (3o do 51 & 55 %)

79 Ry Tq TE F VEFET d99 T [AEed F
gI7 FiAq |

T Sfferdl FH T A, W & v T 0
& REr & ¥ a9 oo e fadand
gmmqnmmuqmwﬁm
g g fee of & Rl 9 @ Raw s ad
g A 21| SEETd - FE aee WM geed
ST T B, PE EEY, R AAH, IS
FAF, T A, P GHE-GAE I | T
F I TG, HEN B TG F AEAEEA § AN
= afl § e @ fEier g %) oo fere
ot & G99 U9F a9 & A | gea @l
T IES HEAreE & foe |1 @ oFm wwa
2 99 9@l W R % awe # R
TaE 1 W 96 AfFd # gyfed G @
FHM ST I¢ A1 AT FA FFAG AT 9
QTN GRE  HANE H A AWH
sEaEEae # g ¥ TEET Hoa A’

o § @ 399 omenm & A Tifew ST

&
i
fy
g
%%3—“&
3
i

el T ol R - @ e
qHfas wd Aow faEa ow o 3w %
et e o g & garir [BEm 9T a9

L5 ap
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T 21 e & aRbws R A g @ 9
e O qaia @M 3 aifen it 399 ST
e T ¥ & T ghass @1 o g B
MR SR Afdss M & WA WO
% g%a g% d9H gEHE-09H § UE-
famfor & gt & o9 FPEE & TR |

51. 9% @I [YE-aTE & 999 393 Alkad
q oftfad 2 oasas B, i

(1) ZEH F¥1 § 9% Hia7 STEaedd
T o B

2 3@ W § HAN I§F "
AGHE F T T § 1

(3) THH S A wiaw ARG & S
Zl

(4) & Iq% a9 & fawE & fg €
& FH FHET 2|

52. frarmfer @ sfigs & Fa1 g6y 2 7
(1) S iR & |y A
(2) Sar B S g H
(3) ST HgH IR FH H
(4) S| B R g @
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53. w=it frem @ g o B 7
(1), a5 & AfaF FE
(2) I F FArMT R
(3) S & N faFEm
(4) TG F OAEGS A

54. g% fammdl #1 g5 F9 € & 7
(1) 59 K =g |
(2) 9 A T e A
@) @& iR o Afaws At ey @

(4) v I R

55. g & grifws R A fig & emdfs
foe X oM 3 EYES 2, i

(1) T Pefag 89w & o=t A

el 21

@ sriiRe Twm § & afits Rem
2 21

3) T X & & R 1 FewrE
e F o TFA 21,

@) wE X § A =™ whaw w@
frarg B 21

56, e F B W gEA @
1) 25
(2 29
(3 33
(4) 13
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57.

58.

59.

60.

‘R e 1 wE AR ¥
() 9+T+A+F+R +7 +3
(2 T+A+{+F+R +q +3
@) Y+ +F+A+T+3 +F +3
4 T+HA+T+F +T+ T +3

M gE A W T SR T A

R ¥ Y@ifed 9FT BE-A1 9SS g 7
(15 GEIRCECE

(2) FEH 9EEE

(3) fsioer geEq

(4) Pran Rdwor qeary

A+ A whg o

(1) AR

(2) =

(3) TrI%®

(4) e

A5 A R & g I A A
S 3 A R, 2R & AR ¥

(1) @ vere, e g
(2 T F g

(3) &t ¥ e Fen
(4) @3t o g



T FE B UG ;| AR B
IugF oY ®
(1) &g ¥ 9B I & FEdr 2|

61.

@ HH F g YA F AEEEHA
2t B

(3) UH F YHIT F AEEFHAT T8 |

(4) TN g2 & A 9w =i

T A H AYRE @A g A fau
T G B oafEE w9 A @R ¢

() €Y F G AH § - HE

(i) g9 ¥ dudsi At & aeaar #
oI FHT 2|

(i) ¥ 3 HIR B TF &

(iv) 39% faula d99¥ § 99 9 &%
T 8 |

(1) @), (1), Gi), (v)
(2) ), (i), (i), (v)
(3) @, (v), (1), (1)
(4) (), (v), (11), (1)

frefafeg § & @99 999 W©
ST G H I2E 8 7

62.

63.

(1) «rg-a=

(2) 3mEg
I (3) =HIIfT

(4) FTEETS
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64.

65.

66.

67.

ST T 1 AR A
(1) FI + 35

(2) T + IF

(3) IR + g

(4) S + g

‘it o= ¥ ued ®

1 % '

@ =

3) =F

@) ;W

frefofas @ g& 999 & 999
FIAT

(1) o A F aY 8ig & =R |
(2) Al F @Y B 3 =R

(3) ot WP N G BIg A AR
(4) 3 A @ WY O I AR |

49 & # Fg-ufeEl § ged 9k @
JYRYE @A gC AN H s #H o
TR

() 9 &1 & T H @ &

(i) TH-E- A E oo

(iii) TG ¥ I FHEA g A

(iv) T & 9 O% @ O
(1) @), (i), (i), (Qv)

(2) @), v), (i), (i1)

(3) @, (1), (i), av)

(4) @), (), (i), (ir)




C

68. ‘darT o= ¥ sugt 2
(1) 99
(2) 99

@) ¥
@ 7|

e : (o Ho 69 F 73 TH)

He RT 77 Frgisr # BFT 797 T8 [AFT F
FI7 BT/

TF gea T 38 A 2 A
eF 61 A AEE F a9
df P 5=

oft 99 B T F A
TF gea e 37 A 2 A
i #d # frg,

g% e # g,

A T A GE A Jrel A
zEa oft arlt 3 Fo & 2 A
C A ETTRA

SR G W & SHEgE
.0 TS # e
WA SR A

W B &9 PaE @ G &
a9 3 g

qH o, R & g W
iR e
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oY F IFAHT B
wF T |
THET AT IS F A

69.

70.

71.

72.

;ﬁrgﬁﬁmm%ﬁaﬁwmm
?

(1) frdw. =l &t v

(2) Y 9 F qeHa TE FB A T
P W @l 2| ‘

(3) B W 38 A
(4) P = @R A ate A

9y B IgEIET A | T4 o B 7
(1) 99 F THRE FA

(2) 99 W G @B

3 91 # FE ¥ F(

(4) T F Ol

T F TR [ HITH L ?

(1) S &1 g9 @A 8

2) fred o & g R

(3) S HO @ HPEE FA B A

I T 2
(@ 5 R # o @

Prffed & @ dm@ = R @
qatgart T8 & ?
(1) &g

(2) Ww

(3) frar

(4) w



73.

74.

75.

76.

‘Fa-Ieed’ F A G ¢ 7
(1) 7T o
(2) ST W
(3) 7T U®
(4) 1 9@

‘W 9§ IqE &Y g9 9=

(1) ,T + 54
(2) 9T +97
(3) 9 + 399
(4) TU + g
Frefofag & & M-a1 9= a1 &t gfe
qygs e ?
(1) g

1.

(2) HM

(3) §M

(4) FR

frfofag & & @M1 a@g @A H
gfte & oy a8 7

(1) S 9 g9 W, @l 9 F |
(2) 9Rem & a9 B I @ T
@) w1 AR il wg @ @

(4) R T & 3§ B W R
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71.

78.

79.

80.

C

9 Ru T aEg @ afFE wH OH
SIS
() Q& An Md o wed A 5% B

(i) FoT a1 B B Pl g8 9% @A
F AP o4

(iii) 29 X UG TF TE-E F 9 gad
@ o T &

(iv) GeaT &1 a9 o1 ol &% 39 &
EEUE R

(1) (i), (v), (), ()

(2) @v), (), (i), ()

(3) (1), (i), (1), Gv)

(4) Qv), (), (), (i)

TrsT=E e WY 3 e e @

(1) PP @t 9@ T F=_a0

(2) 9re-=TE & 9 9

(3) T H F=AT B

(4) FF T T T

Ru m feedl § @ @ WEaEd §/

gieq :

(1) 359

(2) 389

(3) 9rey

(4) e

Frfafas & & F9-8 9= ‘e’ &

qargarE wé & 7

() ™ -

(2) &

(8) FI

(4) BH4
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R : (9o Ho 81 A 85 T%)

#7 Re 1 mHT B EET R wrT @ g
87 waa @& RFE F 9T BT
T "ew ol @ I A 7@ (8)
ffar & 93 o1 o9 89 9u o oM W
gis & T B %M ¥ B g el
T @ 9338 W T @, eIl 4 gl ¥
T@°1 HSA H (82) 91 TR 39
AT g ? wiE ¥ IEw TP @
(83) Rar, 3 37 (84)
WY qFET 3 A f T Fen) ot ol o g
P, T IR T F, TaUC T SPEE B
A &9 (85) q mr

..............

............................

..............

~~
—
~r

81.
(2
3
4)

82. (1)
(2
(3)

(4)

83.

~~
[y
N

7433 344 ] 3 @

@
4
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84. (1) g
(2) et

(3) e
(4) o=

85. (1) g

(2) a1t
(3) &
(4) SEq

f@sr : (9o Ho 86 A 90 TF)

#9 BT 10 T % EwT REm & @ g
8F &7 Tel RAFE T a7 FHorg

e <9 B I W B F (86)
B S B W I ge F gIW F9rm ar @
FET S FHAN GG D (8T 3 T
¥ o A e e ¥ oe-uE 3 st
F (88) BT ¥ 3 &, 9
mEAr @ w1 B PE TeEr 9 @ 9
am &, #E ReEw oud g@ e @t ¥ o
TqF A Toa 8 W HG TESH A g FH
q, IgH AS oA W
T B ¥ gl o o o s =R
gy F W &t g df, 9 Rwm (90)
.............. F 2

. () PRefy

@ sy
(3) THEmEfy
(4) Sfy=afE

..............

..............

..............




87. (1) afrF (2) @
3) &% (4) F
88. (1) P (2) o=
(3) @& (4) e,
89. (1) &0 @ &
(3) ga (4) Bre
90. (1) WM&y
2 9g
(3) weft
(4) I

f35r : (399 do 91 & 95 TF)
7 R T Ty # 1@HT G99 q8 [A% @
g7 Fe |

e
o
£
o
&
A o
g A

T

|
g
5 %
3 48,
13
1354
&&ﬁ‘%
19349
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91.

92.

93.

94.

95.

qr S e R freee B 7
(1) 3T B far

2 w9 % famr

(3) &4 3 fam

(4) arlifts died & faer

A qA TF BN UG U § 7
(1) IR s

(2) EGT A

(3) TG A

(4) == AfH

= ol § AN e % T e 7

(1) S FH HTaT & ST B Bl fHar 7@
Y |

(@gﬁwwg&r@%@eﬁm
|

(3) o %a i & e om Fgar @)
(4) S go-TH a1l 8l |

el wed e awr #Yl ® 7
(1) g AT &

(2) oia® Al H

(3) Tt afdd &

(4) =9-59
‘FEdvgar 9= ¥ I9§T § ¢
(1) 7%

@2 &

(3) THH

(4) @
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f3%r : (Wo Ho 96 F 100 TF)
#q Ry 10 7@ # 9 q9q 78 AFey &

A

£
=

E
=%

%

145%
T
+4

@b?%éi ii"’ﬁi

A

7
-
]

gy
i
11
|

:
.

:

n
i
¥

3
WEEE

¥

1
]

14
£
s b

S

(1) hv%mmmmmﬁ

(2) Fra sfa &1 wifeE w9= & &
(3) = iy odi-feredt Bt B4

(4) Pra sifa & a1 Pra-gest @ 2

(26)

97.

98.

99.

100.

g‘maﬁwﬁw%mﬁmm
?

(1) o=81 ®feg g 3 faow #
HqEES BT 2|

2 = aftw dew 3 ew ¥ gas
B 21

(3) 39 29 AT Ty F e SEA
% faFm & qeEsE 2k 2

(4) yER wfew dEw & fGwm §
. HES B 2|

Y 29 7 g & Afe F ga FEE

FHEY?

(1) =gl RBrafea |

(2) A o | v

(3) AT | ‘

(4) Rar g

gﬁaﬂsﬁm A e wF A S
?

(1) dmrd #t ergen §

() Tfe &t 999 F 91 B W

@) Th AT AR '

(4) FMER 4 FQ @A,

TG & YR W fy=fafag ¥ F F-

1 FHYS |qE T 8 7

(1) =k A T # gl ¥ aRe
F fady arEm 8 ?)

(2) |9 & |ifed # e a2

(3) ST9T Wifed HA . GX@ -9
F 4T o 2

(4) 9= W B TR FHEIH

FA STYTERT B B
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Note : Must fill Language Option of Page 1 at Sr. No. 10 of O.M.R. Sheet.

PART - II (9T - 1)
LANGUAGE TEST

-

ST qEoT

L : i
Questions : 51 to 100 (English Language)
Direction : (Q. No. 51 to 53) Direction : (Q. No. 54 & 53)
Select the word which means the opposite of Select the most appropriate option to fill in
the given word. the blanks from the given alternatives.
54. [ told my mother that I ...
51. Sheer: finish the work in time,
(1) thin (1) shall

(2) opaqué (2) will

'_' _ ' (3) would
(3) light ()
(4) transparent
55. While she was studying in Delhi, her
52. Relegzate : parents .............. her pocket money

every month.
(1) promote y

(1) sends
(2) applaud
{2) send

3) approve .
) api (3) sending

{4) execute (4) sent

53. Retardation: Direction : (Q. No. 56 to 60)

‘ = Read the following passage and answer the
(1) reétention questions given after it (choose the most
4 appropriate answer).

(2) prevention
It is said that a mother gives birth to a baby;

(3) acceleration [ believe a child gives birth to a mother.

o Children grow up and eventually start

(4) replication leading their individual life 'a life that
NTSE(Level-1) Exam. Nov. - 2016 P.T. O.
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belongs to them'. They don't play the role of
a child throughout their life. They are
students, employees, businessmen/women,
lovers, spouses etc., but a mother is always a

mother; a father is always a father. They
were born the day their kid was born. That
first kick, the first cry, the first smile, the
first laughter, the first grasp of their little
fingers, the first bath, the first sniff of baby's
clothes, all firsts of the baby are firsts of the
parent too. These firsts become a permanent
part of the parents' lives. These are
engraved in their memories. They remain a
part of the parent forever.

56., A mother is born when :

(1) the mother's mother gives her
birth as a baby.

" (2) the mother is called as mother by
her baby. :

(3) the mother gives birth to a baby.

(4) the mother gives birth to her first
baby.

57. Who gives birth to a father ?
‘ (1) his mother
(2) his father
(3) hais first child
(4) both his mother and his father

58. A mother and a father is born when :
(1) they get married.

(2) they start living in the same
house.

(3) they come first time in this world.
(4) their first child is born.

NTSE(Level-1) Exam. Nov. - 2016

59. What remains a part yf the parent
forever ?

(1) all children of the parent's house

(2)" male children of the parent's
- house

(3) female children of the parent's
house I

(4) all firsts of the baby of the parent

60. Which of the following means the
same as 'engraved' in the given text ?

(1) carved
(2) etched
(3) inscribed
(4) buried

Direction : (Q. No. 61 to 70)

In the following passage there are some
numbered blanks. Fill in the blanks by
selecting the most appropriate word for each

blank from the given options.

On 26th January a devastating earthquake
shoc;k Gujarat. It destroyed (61)..............
number of houses and killed thousands of
people. The debris trapped many people
(G52 N— it. This earthquake made
(G2 R— people homeless. Help poured
in from different quarters (64)...............
Different organisationéf . conducted the
process of rebuilding. People rescued the
survivors. Volunteers (65).............. make-

shift shelters and tents. Women prepared




community centers. They
of children. The

government brought high-tech machines.

care

These machines dug holes through the
debris and rescued (68).............. _
people. The tireless work and selfless help
the

trapped

the people controlled

61. (1)
(2)

(3) a

many

the

(4)

some

62. (1) below
(2)
(3)

(4)

under
in
over
63. (1) much
2)
(3)

(4)

enough
more

many

64. (1)
(27 immediately
(#

(4)

quickly

hurriedly
rapidly
build
“had built

were built
built

65. (1)
(2)
3)

(4)
NTSE(Level-1)-Exam. Nov.-2016
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.+ 69.

66. into

(2)
4) 1

inside

»
3)

within

67. took

2
(4)

made

(1

(3) gave did

68. 2

(4)

much

1)
(3

more

many most

(1) of

(2) to
for

3)

(4) by

70. (1) few
(2)
3

4)

the
some

a few

Direction : (Q. No. 71 to 75)

Read the following passage and answer the
questions given after it (choose the most
appropriate answer).

What are the good parts of our civilization ?
First and foremost there are order and
safety. If today I have a quarrel with
another man, I do not get beaten merely
because I am physically weaker and he can
kick me down. I go to law, and the law will
decide as fairly as it can between the two of
us. Thus in disputes between man and man,
right has taken the place of might.
Moreover, the law protects me from robbery

P.T.O.
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and violence. Nobody may come and break
into my house, steal my goods or run off with
my children. Of course, there are burglars,
but they are very rare, and the law punishes
them whenever it catches them.

71

72.

73.

74.

What is the first merit of our
civilization ?

ey
(2)
(3

f AN
(3'1}

material advancement

cultural advancement
development of science

order and safety

Now-a-days a physically weak man is
provided protection by :

(1)

the group whose membership he

opts for
(2) the law

(3) his wit and wisdom

(4)

his friends and supporters

In olden days the rule of life was:
(1) right

(2) might

(3) spiritualism

(4) money

The essential condition for the
promotion uf higher activities of life
8 :

(1)
2
@
(C))

safety
state support
economic freedom

encouragement and appreciation
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75.

'run off with my children' means :
(Ll) run a race with my children
(2) quarrel with my children

(3) run away with my children

(4) tease my children

Direction : (Q. No. 76 & 77)

The following five sentences come from a
paragraph. The first and the last sentences
are given. Choose the right order in which
the three sentences (P, @, R) should appear to
complete the paragraph.

76.

S1. The next day was as hot as the
previous one.

S2. c.rvncrorsarsccesivrraes
S F
-2 U PP —

S5. Not to turn up at the pool would

be an acknowledgment of defeat.

P - His body was stiff and sore after

o v
the previous day's encounter.

Q- But he could not refuse the

challenge.

R - Ranji felt weak and lazy and not

at all eager for a fight.
: o .
Choose from the options given below :

(1) PRQ (2) RPQ
(3) QRP (4) PQRs



77. S1. Among the two income groups, a
different set of values exists.

B2 vecesmsiresivnmmaniinerise
S3. i
S4. e

S5. The ideal wife for such a man
separates her  housekeeping
money into joyless little piles- so
much for rent, for food, for the
children's shoes; she is able to
face the milkman with
equanimity and never knows the
guilt of buying something she
can't really afford.

P - Nothing in his life is considered
more worthy than paying his
bills.

Q - Carefulness with money to the
point of meanness is applauded
as a virtue.

R - The young clerk, who makes his
wife a present of a new dress
when he hadn't paid his house
rent, is condemned as

extravagant.
Choose from the options given below :
(1) PRQ (2) RPQ
(3) RQP (1) QPR

Direction : (Q. No. 78 & 79)

The following questions have the second
sentence missing. Choose the appropriate
sentence from the given option to complete it.
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78,

- 79.

(1)

(2)

(3)

(4)

1)

(3)

(4)

C

-

Camels are most valuable in a
desert country.

............................

This is because they have special
célls in their stomachs which
store water, and because they can
also store fat in their humps.

Over soft, sandy ground where
most animals would get stuck, a
camel can travel easily.

They can travel long distances,
carrying heavy loads, with little
food or water.

Their peculiar but pleasant
swaying motion can be enjoyed in
deserts only.

They feel comfort when lying
down on the sandy ground.

On two historic  occasions,

Gandhiji found a greater scope for

offering his services as a nurse.

On both the occasions he raised
an Indian Ambulance Corps that
tended the sick and carried the
wounded.

He proved an able leader of the
nursing squad and marched miles
and miles bearing the wounded
on a stretcher.

For his service he was awarded
the Zulu War Medal and the
Kaisar-e-Hind gold medal.

The moment Gandhiji heard of it,
he went there with four
assistants.

One was the Boer War and the
other the Zulu Rebellipn.

P.T. Q.
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D‘irection : (Q. No. 80 to 89)

Choose the word which best fills the blank
from the four options given.

80. The psychologists believe that
homework has become .............. for
children and they have no time for

play and leisure.
(1) an ;ﬁxcuse
(2) a éurse

‘ ~(3)_ a burden

(4) an anathema

81. The listeners recreate the story in
their minds according to their ...........
perceptions.

! (1) personal

(2) individual
(3 . manual

(4) memorable

82. The postmaster put the money in an
envelope .......... to Lencho and with it
a letter containing only a single word
aS a signature : God.
(1) written
(2) marked

. (8) forwarded

(4) addressed
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83.

84.

85.

86.

The doctor ............. her not t® squeeze
the boils.

(1) suggested
(2) proposed

(3) advised

(4) recommended

We must respect all the .......... y- of

cultures different from ourown. '

¢ religions -

(2) customs

(3) regulafions

(4) trends

Education brings many ........... to

individuals to exploit and lead a
better life.

(1) incidents
(2) opportunities
(3) circumstances

(4) advantages

The white colour in our national flag

1S @ coveveeeramnrnnensinnenans of piece.
(1) signal

(2) hint o

{3) symbol

(4) symptom




87. My mother sliced an apple into four

equal parts and ... it

amongst the children.
(1) distributed
(2) gave
(3) divided
(4) scattered
88. It is a good practice tO .......oceeoreen
the answer sheet once again before
handing over it to the invigilator.
(1) see
(2) “scan
rd
(3) look at
(4) glance
89. When the teacher asked Mohit a
_question, he gave her a blank .......... .
(1) look
(2) gaze
A3) sight
(4) stare

Direction : (Q. No. 90 to 95)

Select the meaning of the glwen
phrases/idioms.
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90.

91.

92.

93.

94.

Fix up :

(1) arrange

(2) doing according to others desire
(3) raising something upward

(4) increase

In the blink of an eye :
(1) treat equally

(2) one glance

(3) very quickly

(4) defect in one eye

Put up with :

(1) follow

(2) tolerate

(3) keep together

(4) flourish to compete

Call off :

(1) switch off

(2) end call

(3) cut pl;xone

(4) cancel

To be in the same boat :

(1) to be in the same difficult situation
(2) to wear the same dress

(3) totravelin thé same vehicle

(4) to support the same party

P.T.O.




Cc

95. Alittle birdie :
(1) a poor person
(2|) a very small bird
(3) a secret person

(4) a new born baby
Direction : (Q. No. 96 to 100)

Read the following passage and answer the
questions given after it (choose the most
appropriate answer).

When a child listens to a story, reads a poem
or an instruction, s/he tries to understand
the text and makes meaning out of the
sounds (while listening), letters ' of the
alphabet, sentences or paragraph (while
reading). But s/he comprehends them as a
whqlé. As teachers of second language we
need to enable our learners to look at
language in a holistic manner by bringing
together all the four skills. Learning is
meaning: making and language is learnt
when the learner uses language in real life
situations and contexts. The four skills -
listening, speaking, reading and writing-
work better in the company of each other.

96. The four language skills are :
(1) teaching, learning, reading and
’ writing
(2) reading, speaking, listening and
" teaching
(3) teaching, listening, reading and
speaking
(4) listening, speaking, reading and
writing
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97.

98.

99.

100.

The sentence "Hetaksh has learnt a -
language." suggests that :

(1 He can read and the

language.

write

(2) He can speak the language.

(3) He can use the language in
context.

(4) He can understand the language.

In the passage second language refers
to:

(1) language of a teacher

(2) language other than the mother
tongue

(3) language of a poem

(4) language of instruction
An alphabet is :

(1)‘ a’

(2) A

(3) both'a' and'A’

(4) a set of letters

According to the passage 'bringing

' together' means :

(1) integrating
(2) mixing
(3) attracting

(4) closing




Questions : 101 to 200

102.

103.

104.

Which of the following contains

maximum number of molecules ?
(1) 1g N2

(2) 1g CO2

(3) 1g H:

(4) 1g Oz

‘Which of the following hydrocarbons
have acidic hydrogen ?

(1) CH2=CH:

(2) HC=CH

(3) CHs

(4) CeHs

The pH value of a solution prepared
by dissolving 4g NaOH in 100 litre of
water 1s :
(1) 13 (2) 14

(3) 12 (4) 11

An atom of an element (X) has its K,
L and M shells filled with some
electrons. It reacts with sodium metal
to form a compound NaX. The
number of electrons in the M shell of

an atom of element (X) will be :
(n 7 (2) 8

3) 2 (4) 1
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101.

102.

103.

104.

Pt 3 @ forerd oifeaw oIt 1w
gt ?

(1) 1g '\h

(2) 1g CO:

(3) 1g He

(4) 1g O:

Prer  erggraml
HECEE R

(1) CH:=CH:
(2) HC=CH
(3) CHu
(4) CsHe

uF fege ot 4g NaOH @ 100 ieT
ol § 9 & g9 T 8, 39@ pH
qH B ’ '

(1) 13 (2) 14
<

(3) 12 @ 1

X) T & TH $ K, L aa M Fa F
59 FaaE W | 98 o QA 9
F f5 FY NaX A F1 81 (X) T
$ o F M B9 F g B A
g '
a1 7 @ 8

(3) 2 4 1
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105.

106.

107.

108.

An element which shows allotropy
when burnt in air gives a gas with
characteristic smell. The gas turns

‘blue litmus red and is used as an

insecticide. The element is :
() C
(2) N
@ P
4 S

Which natural indicator (acid-base) is
used in kitchens of our homes ?

(1) Sodium chloride
(2) *Tea leaves
(8) Sodium carbonate

(4) Turmeric

Which of the following statement is

correct regarding metals and

non-metals ?

(1) All metals are brittle.

(2) All non-metals are ductile.

(3) Generally metals are ducﬁle.

(4) Non-metals are good conductor of
electricity.

Coal is called fossil fuel because :

In future coal will become
completely exhausted.

It was formed 300 million years
ago.

(3) Fossils are obtained along with
. mining of coal.

4

(1

@

It was formed from the dead
remains of living organisms.
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109. An organic compound Butanal has
" functional group :

(1) Aldehyde (2) Ketone
(3) Alcohol (4) Amine

110. The compound containing both
covalent and ionic bond is :

(1) MgCl: (2) NH.Cl
(IQ CaO (4) AlBr,
111. Match the following :
Column -1 Column -2

(A) Strongest reducing (1) Thallium

agent in solution

(B) Shows inert pain effect (i1) Caesium

(C) Forms peroxide on (1) Lithium
heating with excess of
air

(D) Used i photoelectric (v) Sodium
cells

(1) Adv Bii C- Deii

(2) A-i B-iv C-i DAl

(3) A-ii B-i C-iv D-u

(4) A-ui B-i C-i D-iv

112. One mole of NHs means :
(1) 2.24 litre of NH3 gas at STP
(2) 1.7g of NHs
(3) 6.023 x ‘1023 molecules of NH3

(4) 34g of NHs
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109.

110.

111.

112,

. C
TF FEMS WA T B A
wE R
(1) deeerzs (2) FreN
(3) rehiE 4) =
A s weddnett qor emafe aFt
YHT P €Y '
(1) MgClz (2) NH4Cl
3) CaO (4) AlBr,
frfafaa & fam &t ¢

P - 1 Bl - 2

A) g fRegs ¥ gaw @) Afwaw
YEGE

(B) ofFg Srer w9 Ramr i) difEg
¢

©) oifFde & @9 ™ (i) WuEN

A W e
FraT 8 ‘

O o faga & ¥ w@m v @R
g @

(1) A-iv B-ii C-i D-iil

(2) A-ii B-iv C-i D-iii

(8) A-ii B-i C-iv D-ii

(4) A-ii B-ii C-i D-iv

TF A NHs § sy &

(1) 2.24 WeX NH;s 19 STP ©
(2) 1.7gNHs 3

(3) 6.023 x 102 319 NHs%

(4) 34g NHs 3

P.T.0.




113.

114.

115.

116.

1173

o)

(1) Huyunh Phu So

Rutherford's alpha particle scattering

experiment was responsible for
discovery of :

(1) Electron
2) Atomic nucleus
(3) Proton
(4) Neutron

Which period in the history of France
is reffered to as the 'Reign of Terror' ?

'1789-1794 .
1793-1794
1793-1804
1789-1804

(2)
3
4

Who wrote the book "The Social
Contract" ? :
(1) Montesquieu ]
(2) John Locke
(3) Rousseau

(4) Abbe Sieyes
In 1920  Millitant Gﬁérriﬂé
Movement in Guden Hills of
Andhrapradesh (India) was lec-l_'})y :

(1) Alluri Sitaram Raju

(2) Baba Ramchandra
(3) ﬂBirsa Munda

! 4
(4) Diku and Kanu )

Who founded the Communist, Party

in Vietnam ? )
)
(2) f"han Boi

(3) Ha Tinh

() Ho chi Minh
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113.

i R S s @

freet @t & R 7

(1)
(2) Ty A
(8) ureH

i sin €4) g

114.

115.

116.

117.

fefi0"

N
L [V AN

4y

9 1920 F SRy # A

Fg & ghem ¥ F-a 79 96
T F T F A S 6 7
(1) 1789-1794

(2) 1793-1794

(3) 1793-1804
1789-1804

% Ry FE TE GEE B @A
w87 "

(1) Hiewq

2 9.9

@) =]

@ W RA

[i¢

el 3
o ?

(1) I FaRHE TG

©) T

@) faear g2

(@) &g ol
froam § wraar
CIa

V) FEFH y
(2) ® A R
@) z-fre '
(@) B-A-B=

rande



118. When did Muslim League celebrate
the 'Deliverance Day' ?

(1) 23.March, 1940

(2) 22 December, 1939 .
(3) 24 October, 1939

(4) 16 March, 1940

119. In which state of India are Gujjar
Bakarwals largely found ?

(1) Rajasthan
(2) Gujarat
(3) Jammu and Kashmir

(4) Maharashtra

120. The Duma were council assemblies
‘ which were created by :

(1) Lenin
(2) Karl Marx
(3)> Trotsky
(4) Tsar of Russia

121.  The first Olympics were held at :
(1) Athens (2) Moscow
(3) New York - (4) Berlin

122. US entered into world war-1I due to :

Germany

(2) Aerial bombing on London

(3) Japanese attack on Pearl

Harbour

(4) Non payment of reparation dues
by Germany

-
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(1) Annexation of Poland by -

(39)
118.

119.

120.

121.

122,

Cc
yitem-dr 3 ‘g Rew’ w9 w9 ?

(1) 239", 1940
(2 22 RE=T 1939

(3) 24 SFFET, 1939
(4) 1691, 1940

W & R T § TR a%EE @
qgard 9 S 8 7

(1) TS

(2) Toad
(3) o1 dUT FER

(4) HERE _
g i s $ e &

(1) afm

(2) i T

(3) sz

(4) & B ,
I GE SfE & Fel g !
(1) &= (2 A

©@) @) aff

i faE-gw 3 omRe & ot @
I HITT AT

(1) aﬁtmtﬁ%vgwm

(2) &F 9 TR §4rd

(3) Gel-BET U ST ST

(4) Tz afagfd @ ewmEE A
FAT
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123.

124.

125.

126.

Who wrote "Khadi is more of a
thought than a cloth" ?

(1) B. G. Tilak

(2) M. K. Gandhi

(38) Sardar Patel R

(4) Jawahar Lal Nehru

The very first section of the under
ground train in the world opened
between Paddington and Farringdon
Street in :

(1) Rome

(2) Paris

(3) New York
(4) London

The earliest kind of print technology
was first developed in :

(1) India
(2) France
(3) Greece
(4) China

Select from the following a set of
Kharif Crops only :

29
(1) wheat, gram, mustard
(2) bajra, jowar, pea

(3) bajra, jowar, maize *

(4) arhar, barley, cotton
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123.

124.

125

126.
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2 3 9= fres g 7 :
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127. What is the Longitudinal extent of
India ?

(1) ‘67°8'E — 92°25'E
2 I.‘68°7'E —-97°25'E
(3) 68°6'E—98°25'E
(4) 68°TW —97°25'W
128. Ngw Moore island lie in :
(1) Gulf of Kachcha
- (2) Bay of Bengal
(3) Gulf of Khambat
(‘4) Gulf of Mannar

129. The highest peak in the Western
Ghat is:

Q@y/Anai Mudi
(2) Doddabetta

(3)y Mahendragiri
' 44 Nilgiri
130. In which of the following states is the
Chilka Lake located ?
(1) West Bengal
/(2) Odisha
(3) Goa
(4) Tamil Nadu
131. The average weather conditions of a

place throughout the seasons refers
to: )

(1) Cyclone - (2) Season
(3) Weather (4) Climate
NTSE(Level-1) Exam. Nov. - 2016
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129.

130.

131.

-~
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(1) 67°8'E—-92°25'E

(2) 68°T'E—-97°25E

(3) 68°6'E —98°25'E

(4) 68°T'W —97°25'W

= ¥ A fgd

(1) F== 3 Qe

(2) & F e F

(3) @ i @El

(4) 7 3 @rEl H

qRedl e ¥ gaq S99 8

(1) g 38
(2) A
(3) wWe=MR
(4) @Rt

Prfafag - woat & @ foen d@w R
T F Reg & 7

(1) 9iREq 9T

L (2) Sffesm

(3) M

(4) AEg

Rl @ @ &l mgel @ A
Zat 31 ofrea F FEd © ¢

(1) 9shard (2) #g

(3) A (4) vy
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182. According to the census of India-2011
which one of the following states has
highest sex-ratio ?

(1) Haryana
(2) Kerala
(3) Himachal Pradesh

(4) Punjab

133. In which of the following states.is the
Pachmarhi bio-reserve located ?

(1) West Bengal

(2) Harvana

(3) Punjab

(4) Madhya Pradesh

184, 'Mahe' place of union territory of
Puducherry is situated in which
state ?

(1) Kerala

(2) Andhra Pradesh
(8) Tamil Nadu
(4) Goa

185. In which of the following states is
Laterite soil found ? )
(1) Karnataka
(2) Haryana

(3) Bihar

(4) Sikkim

NTSE(Level-1) Exam. Nov. - 2016

132.

188.
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ME ' FTOE-2011 B
frefofeg v 8§ & B o=@ @& -
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() efErn -

(@ W

(3) fewmemt mew

(4) 9o !
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(2) efErm
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"136. In which of the following ‘states

Koyana multipurpose project is set
up ?

(1) Karnataka

(2) Maharashtra

(3) Andhra Pradesh’
(4) Tamil Nadu

i*137. 'In which country the 'slash’and‘Barn'

agriculture is known as 'Roca’ ?
(1) Mexico

(2) Vietnam

(3) Brazil

(4) Indonesia

; J-0 4
138. Arthsastra is written by whom ?

(1) Kautilya
- (2) Machiavelli
(3) Chandragupta Maurya

(4) Samudragupta

139, Whlch of the following does,
ﬁéure in  preamble In
Constitution ?

(1) Democratic

(2)" Secular

3) .Republic

(4) Religious Justice
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140.

141.

142,

143.

In which game P.V. Sindhu won the
silver medal for in Rio
Olympics ?

india

(1) Lawn Tenis

(2) Badminton .

(3) Wrestling
(4) Archery

Which in following statement is not
true about President of India ?

(1) President is Constitutional Head
of India.

(2) President presides over the joint
session of Indian Parliament.
(3) President is indirectly elected.

(4) President's tenure is 5 years.

Strength of members of Haryana
Assembly is :

(1) 80
3) 75

(2) 90

(4) 100

Which statement is correct about

money bill in parliament ?

(1) Lok Sabha and Rajya Sabha have
equal powers.

(2) Lok Sabha has more powers than
Rajya Sabha.

(3) Rajya Sabha has more powers
than Lok Sabha.

(4) Lok Sabha has no power on

money bill.

NTSE(Level-1) Exam. Nov. - 2016

(44)

140.

141.

142,

143.

fiofto g 3 B A & R oA
¥ 9Ra & fe o 2% Siar ?

(1) ¥ 2

2 T

(3) Tl

(4) drE=meh

qeE Usea & g §, e oF

FT-71 F49 & F&T & 7

(1) Tsgafy "Ra @ gt g 2

(2) Tul G698 % N ge # g
I F TeHEET FIAT 2 |

(3) Tufa FTEE Y R g A 8

(4) TUf F FESE 9" g8 F e
4

gRarn fEm 8w #® gEE @ g g
g

(1) 80

3) 75

g & o B @ @ A-a T

e e ?

(1) qF 9 7 9 g F afFEr
U 2|

(2 @& I F g T™ /W R
s &)

(3) T T P afFEr @ g |
oF 2

(4) mﬁawmwaﬁﬁém
T4 E|

(2) 90
(4) 100

-




144. Which of the following statement is
correct ?

(1) U.P. and Bihar have bicameral
legislature.

(2p U.P and Haryana have bicameral

legislature.

(38) Bihar and Assam have bicameral

legislature.

(4) Bihar and Punjab have bicameral

legislature.

145. During Indian National Movement,

who gave two nation theory ?
(1) M.A. Jinnah

(2) Sardar Patel

(3) Liakat Ali '
(4) Subhash Chandra Bose

146. Suppose a country of 1000 people has

income from primary
T 15000, secondary sector is T 20000
and total national income is ¥ 50Q00.
What will be per capita income of the

country ?
(1) 85

(2) 20
3

(4)

35

50
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(2) HEX 9
(3) foraea ol
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146.

() 85
2 20
(3) 35

(4) 50




147.

148,

149.

A bank manager Mr. Neeraj Kumar
sanctioned a loan of T 250000 to

Mr. Brijesh Kumar for his personal

use and asked him to submit his

latest salary slip and photo ID proof.
What type of this loan is called ?

(1i Secured loan

(2) Unsecured loan

(3) Collateral Security, ,

(4) Demand Deposit

Which of the following statement are

true about '"MRP' ?

(a) A seller can sell the products at
MRP.

(b) A seller can sell the product
below MRP.

(¢) A seller can sell the products
above MRP.

(d) MRP has no significance for
seller.

(1) a, b | (2) b,c

3) ac¢ (4) e d

‘Mr. Anil Kumar purchased a house of
%10 lacs, a car of ¥ 4 lacs, a sofa set of
¥ 50 thousands and anair conditioner
of ¥ 30 thousands. What amount will
be called his investment in economic
terms ?

(1) T 14.80 lacs

(2) ¥ 4.80lacs

(3) T 10.00 lacs

(4) T14.00 lacs
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150. A

151.

153.

purchased
farmers,

sugar mill owner

sugarcane from

manufactured sugar from it and than
sold it to wholesalers. Such kind of
activities comes under :

(1) Primary sector

(2) Secondary sector

(3) Tertiary sector

(4) Service sector

Which of the following is an economic

activity ?

(1) A teacher teaching his son.

(2) Reading of a poetry by a poet
before his family.

(3) A farmer works in his field.

(4) A nurse serving her child at his

home.

Mr_Mehta is an industrialist and he
earns profit from his occupation. This
pr&it is received by him due to his :

.(l) Entrepreneurship

(2) Capital
(3) Land
(4) Money

In 1Indian economy, prices of
vegetables are determined by :

‘1) The government
(2) The producer
(3) The market forces

(4) The capitalist
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g orfemgwenr #  afsrdt @ @
fras arv fufa i o & 2

(1) 9T
(2) IWRF
(3) IR drawct
(4) it

P.T.O.




154.

155.

156.

157

158,

The sum of the reciprgcals of the

xioots of the equation l—m—x - 1 +1=0
- 123 x

18 :

-101 o 123
M a3 @ o1
@) -1 ) 1

If 23 + y = 2249, where x and y are
natural numbers and HCF of x and y

is not 1, then the value of (x + y) 1s:
(1) 26 (2) 39

(3) 52

If a=JG—«/_lT and b=+6+411

then the value of (@ + b) is :
@ V22

@ 2411

@) J6

) V12

If 2a2-2ab+b®+6a+9=0 , then
(a + b) + ab equals :

M 1 @) 2
®3) 3 @ 4

(4) 65

The sum of all the terms common to
the arithmetic progressions
1,3,5,% 0. , 1991 and 1,611,

(1) 199100
(2) 199200
(3) 199300

_(4) 200196
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154.

155.

156.

158.

%x+l+1=0 % ‘lﬁ £

X

"1
oAl & A @
-101
123
@ -1

IR o + y = 2249 &, T x Ay WA
et ¥ A« dy F 9.49.39. (HCF)

123
9) =2
@ 101

4) 1

(1)

TR, T (ery) FATR

(1) 26 (2) 39

(3) 52

g% a=~/6—~/’1_13ﬂ'( b=\/6+«/ﬁ ga

(a+b) F AF & :
1) 22

@ 2411

3) 6

@ V12

a2 242 -2ab+b%+6a+9=0 B,
(a+b)+aba[ET 2 :

In 1
3 3

(4) 65

2 2
(4) 4
guae AfEr 1,35, ... ., 1991 3

1,6, 11, ....... . 1991, ¥ &t 9 9 &
R

(1) 199100
(2) 199200
(3) 1995;00
(4) 200196

(I



159.

160.

161.

The number of real solution of the
pair of equation x + y + xy = 19 and
x2+y2=251s:

1

If plx)= ax? +bx® +cx-11, where
a b and ¢ are constants and
p(1042) =~ 32, then p(-1042) is equal

to:

(1) -10
@ -12
(3) 19

D

(4> &2

The faces of a dice are marked with
numbers 1,1,2,4,5,5 and that of
another dice with 2,3,4,5,6,6. Both
dice are thrown together once. What

| .is the probability that the sum of

numbers on their tops is even ?

(1)

o | =

(2)

3

4)

| o W=

NTSE{Level-1) Exam. Nov. - 2016

159.

160.

161.

c

E’Wg“?xi-y + xy=~193?|‘(
X2+ y2=25% Frdiad ool 3 GE ©

(1) 1
(2) 2
3) 3
(4 0
D14 p(x) =ax 9 ibxd® rex-11 % |

a, b3 ¢ 3R B sﬂrp(104z)-—32%
9 p(-1042) STER @

(1) -10
(2) ~12

(3) 10

o |

3

4

Wl Wl W

~——

P.T.O.




162,

163.

164.

If a® = cosec © — sin 6 and b® = sec 6 -
cos 0 then the value of a*b® + a®b* is :

1 o
@2 1
1 2
4) 8
When the decimal point of a certain
positive decimal number is moved
two places to the right, the new
number is two times the sum of the
original number and the reciprocal of

the original number. The product of
42 and the original numbers is :

(1) 3
@ 6
@) 7
4) 14

A regular octagon is formed by
cutting an isosceles right triangle
from each of the corners of a square
with side 15 em. The area (in cm?) of
the octagon is :

(1) 152v2-1)
@ a5%*Vz-1
'(3) 15(2v2 -2)
@) (15)%(2V2-2)

'
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162.

163.

164.

IR o® = cosec O — sin O T b® = sec O — |
cos 02, A a'b?+a’' T AN T :

(1) 0
2 1
3) 2

(4) 3
v

99 Pl o= geHed 9@ 3 39Had
frg #1 &% o & ®F 7% 9@R ¢,
T4 T dE, SRiE gE adr amRiNe
q& B o B AT 3 P B
| oM wE A 42 HOPEEA ¢

(1) 3
(2) 6 V4
3) 7

(4) 14

15cm3mm%@aﬁ%qﬁ$aﬁﬁ
U THEEE HHT BYE FeH, &
T S I S 2 | 3 ALY F

FIFT (cm2H) B :
(1) 15242 -1)
@ a5%@2V2-1)
(3) 15(2v2-2)
4) 15)%(2V2-2)
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165. The -length (in cm) of sides of a
“triangle are positive integers. If its
perimeter is an odd number and the
difference of length of two sides is
11 cm, then the possible length of the

third side is :

(1) 10cm
(2) 11cm

(3) 12 cm
[P FOR E22 AR

T ;(ﬂ) lacm

166. In A ABC D and E are the points on
_BC and AC respectively. If AD and

BE intersect at P such that _{}_13_ 5

DP
BP _
and P =7, than CD : BD equals:

(1) 5:7
@) 5:16
(3) 3:17
(4) 8:20, . | \

oy

167. Ina parallelogxam KITE, AKIT 75°,
CUURATL ITTRA and EI intersect at B
where A is a point on IT. IFEB = 2KI,

then the measure of ZKBE is :

(1) 62°
@) 65° !

(3) 68° [

@) 70°

NTSE(Level-1) Exam. Nov. - 2016

(1) 10cm
(2) 1lcm

(3) 12 cm

,(9) lapm e i

Lo

166 ﬁ;ga ‘ABC if‘ gw BC afn AC W

A DemrEhg%luﬁADeiRBE
wpwwmmm% fe

‘BF'“?R P -7@ &cp:BD
TR &
(1) 5:7
@) 5:16
(3) 3:17

. (4 3:20.

1%7 fiLinE aggu‘fKITE ¥ LKIT = 75° &I

“ KA 11T, KA'gar Bl fig B @ sfaess
g ¥ o fig A e IT W Rad
afs EB.= 2KI, 9" ZKBE %1 717 ® :

(1) e2°
(2) 65°
(3) 68°

4 70°

P. P, Q,




168.

169.

170.

171.

>
/

1) 7

‘trapezium are 14 cm and

(4)

The sum of all interior angles and one
exterior angle of a convex K-sided
polygon is 1350°, the value of K is :

(2) 8

3) 9 (4) 11

The length of the parallel sides of a
7 em. If the
length of third side is 8 em and of
fourth side is x ¢m, then the number

"of possible integral value of x is :

(1) 12 (2 13

(3) 14 (4) 17

If an arc subtending an angle of 75°
at the centre of a circle A and another
are subtending an angle of 55° at the
centre of circle B are of same length,
then the ratio of area of circle A to
that of circle B is :

(1) 11:15
(2) 11:

3

25
121 : 225
121 : 625

In the figure, PQR is a semicircle and
ABCD is a square of side x cm, if the
area of the shaded part is (67 — 8)
em?, then the value of x is :

(1) 2J§
@ 4
(3) 442

(4) 8

NTSE(Level-l) Exam. Nov. - 2016
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168.

169.

170.

171

ngaﬁ@mag‘ga%mﬂeﬂa
IO AT T ARERT F AT 1350° 2,
K& 99 & :

1 7
3) 9

(2) 8

(4) 11

14cm6ﬁ7cmglqﬁm‘ﬂﬁl
O 8 cm B X WM g A R
xem® @ xB FVF PrHE 97 2

3p

(1 12 (2) 13

(3) 14

uﬁ:@smzﬁ
9T 75° FH BT

(4) 17

(1) 11:15
(2) 11:25
(3) 121:225
(4) 121:625

afa ¥ PQR ©F &dgd @ T ABCD
@ﬁ%W‘gﬁT):cm%Iqﬁ
St 91T F A9% (5t — 8) em?, ©
9 xH A B

Q) 2v2
2 4
(3) 42

(4) 8




172,

173.

174.

In A ABC, D and E are the point on
AC and AB respectively. BD and CE
intersect at F. If the areas of AEBF,
ABFC and A FDC are 10 cm?, 20 cm?
and 16 cm? respectively, then the
area (in em?) of quadrilateral AEFD
is :

(1) 34 (2) 38
(3) 44 (4) 48
A right circular cylinder whose

diameter is equal to its height is
inscribed in a right circular cone of
base diameter 16 cm and.height 3
times the base diameter. The axes of
both solids coincide. What is the
volume (in ¢m?) of the solid inside the
cone but outside the cylinder ?

(1) 296 (2) 312 =

(3) 432 (4) 592 n

If the saliva is lacking in salivary
amylase then which of the following
processes taking place in the buccal

cavity will be affected ?

(1) Proteins breaking down into
amino acids
(2) Starch breaking down into

sugars
(3) Fats breaking down into fatty
acids and glycerol

(4) Intestinal layer breaking down

leading to ulcers

-

s
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172,

173.

174.

C

A ABC ¥, f§g D &fX E %981 AC &R
AB U¥ fRerg #| BD 8 CE 908X F ©

gferede FXq ¢ 3 Bigel EBF, BFC
3T FDC % &%« HA 10 cm?
20 cm? 3T 16 cm? &, ﬂ'ﬂ‘ﬁﬁ AEFD

(1) 296~ (2) 512 =

(3) 432 (4) 592

o &% F o vk @ FHVY @
Frr & @ 9@ 71 4 &9 | uiR
gaifad grlt

(1) WERT @ opil owdl ¥ g

(2) ®HE # sl § g

(3) Farsdt F1 b ol @ PeEada=

Sl
@ gt of #1 ge Red o &
T




Cc
175.

176.

~ more RBC's in their = blood - than

(54)

It has been found that people living
in’ very high mountains have many

people-living in plains. Which one of
following reason is correct 7,

(1) The cold climate stimulates the
production of RBC's to keep the

bodywarm.

(2) People of high mountains breathe

more quickly. v

(3) The low air pressure requires
more RBC's to supply oxygen to
Body's cells.

(4) The low air pressure in high
mountains speeds up the blood
circulation so that more RBC's
are needed.

Which of the following gives the

correct sequence of the composition
a reflex arc ?

(1) receptors — muscle — sensory
neuron — motor neuron — spinal
cord

(2) receptors —» motor neuron -—»
spinal cord — sensory neuron —

muscle

(3) receptors —» spinal cord —
sensory neuron — motor neuron

-»> muscle

(4) receptors — sensory neuron —
spinal cord — motor neuron —

muscle

NTSE(Level-1) Exam. Nov. - 2016

175,

176.

(2 3 W@a B A FE-TEl 9" ad
gl

(3) Pt arg @@ A 9 A RS

g st g & fow ol
T BB H SELIHT BH 8 |
(4) 9 T | = Ay e #® O
T (qfees) & @ F0 & [
Ay G et @
HEE B 2 |

Prer & & @ sREw 9§ o (arl)
w2

(1) m—a’ﬁ'ﬁﬁ?ﬁem:{ﬂ?—o
ey =T - T e

| @ fEed - Frer T - wWET #1E

- T I - A

-~

(3 fMAed » @ETe 3 - =l
Wew?{ﬂ?a‘mﬁﬁ

4) REed - MW — WA
FE - WX = > araysft
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177. The offsprings formed as a result of
sexual reproduction exhibit more
vatiations because :

(¥ Sexual reproduction is lengthy

process.

(2) Genetic material comes from two
parents of different species.

(38) Genetic material comes from two

parents of same species.

(4) Genetic material comes from

many parents.

178. pThe sex of a male child is determined
by which of the following ?

(1) The length of the mother's

pregnancy

(2) The length of time between

ovulation and copulation

(3) The presence of an X

chromosome
(4) The presence of a Y chromosome

179. According to the evolutionary theory,
formation of a new species is
generally due to :

(1) Sudden creation by nature.

(2) Accumulation of variations over

several generations.

| . (3) Clones formed during asexual
reprodugtion.

(4) Movement of individuals are
habitat to other.

NTSE(Level-1) Exam. Nov. - 2016.

177.

178.

179.

Cc

A wH @ & H‘dﬁ’f e

(1) o wore it afear 21

2 RfY= wfidfe & grar-Rar § S/ks
werel SEr B

(3) % & Wi 3 war-Rar § ARE
qeTet ST B

(4) 9gg § "E-fia @ SAfw gard
I 2 |

= 4 § 593 a0 @ W og= @
ferr Feifeg & & 7

(1) T 3 THYRT H G99 9 |

(2) e fEeH ok fgT # @
d & '

(3) X TorgH F IuRkfy |/

(4) Y oS F1 Iufefy @

S e @l 3 omE T whei
F o g w9 3 Fre omer @
g §

(1) ugfa § srams gite Fmir §)

@ B O g st 3 ot

Gl | A
(3) SFifE g ¥ T a9 d |

(4) &l F UF AE WE q TE W
9 A :
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180. The pH of a sample of water collected
from a river is found to be 3.5 to 4.5.
The most likely reason for this is the
waste being discharged into the river

from :

(1) Soap and detergent

manufacturing factory.
(2) Car battery manufacturing factory.
(3) Alcohol manufacturing factory.

(4) Plastic cups moulding factory.

181. Select the correct answer about

manure :

(a) Manure contains large quantities
. of organic matter and small

quantities of nutrients.

(b) It increases the water holding

capacity of sandy soil.

(¢) It helps is draining out of excess

of water from clayey soil.

(d) Its excessive wuse pollutes
environment because it is made

of animal excretory waste.
(1) a &e
(2) a&b?
3 b&e

(4) c&d

NTSE(Level-1) Exam. Nov. - 2016

180. & T | A BRA T qF B TR W

pH 35 & 45 g 1| = & 5w &

T qedl #4213 g e | A

ga 7 -

(V) wEgT 7 Rede o #&A el
SFT A

2 F B I g At S A

(3) Tewled FEi = art Sl ||

(4) TfEE FOr F A FE A
Sl ||

181. @R & #ed ¥ gl oW H gAE A

() @ § afys wEr § SfeF w9
9 AT § A9E O o1

(b) & Yt g1 & g UHEA B AR
eI B 1

(¢ 7% FFi g1 & s g e
¥ meg F 2

(d) T mﬁmmﬂn qraETe F

TRd Fa & Fie g8 9Pt @
Il 9 werd | &N Bkt 1

(1) ad¥lc
(2) ad¥lb
(3) bd¥Tc

4) cdurd




182.

183.

184.

185.

Plasmolysis in plant cell is defined
as:

(1) Breakdown of plasma membrane
in hypotonic medium.

(2) Shrinkage
hypertonic medium.

of protoplasm in

(3) Shrinkage of nucleoplasm.

(4) Breakdown  of nuclear

membrane.

Tissue found in area of regular wear
and tear is:

(1) Simple squamous epithelium.
(2) - Stratified squamous epithelium.
(3) Simple cuboidal epithelium.

(4) Stratified cuboidal epithelium.

Phylogeny is the study of one of the
following :

(1) Development of an individual.
(2) Evolution of species.

(3) Embryonic development of an

organ.

(4)‘Ecolog1'cal
¢ organism.

adaptation of an

Duckbilled platypus and echidna are :
(1) Reptiles

(2) Eutherian mammals

(3) Egg-laying mammals

(4) Young one producing animals
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182.

183.

184.

185.

C

GERITaE P Ry PR I/ TER
gisnie fpar ST ®

(1) eRURS g § <o R &6
T |

(2) RS Wy § A @
frgs |

(3) e H faEHs |

(4) R el #1 ge )

Fafd % 9« &3 & = &%
B @ ' :
(1) HERY EEHE i |

(2) IETEE wEwE wfEd |

(3) HIEY Fgergew qdfaferam | -

(4) FEWia wgaFea TdfdfemEy |
frss § 9 @& @1 s1eag wRaeE B

(1) & o F e |
(2) st &1 R
(3) TH ST N yoiry forerd |

4) @Wﬁmﬁwwl

&% fes @feqw ol ofvew ¥ -
(1) whgy

(2) gfET waEd

(3) 3 3 I wWWE

@) g ¥ FH I g
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186.

187.

188.

189.

Which of t.he following is mismatch ?
(1) Leprosy — bacteriai infection

(2) AIDS - bacterial infection

(3) Malaria — protozoan infection

(4) Elephantiasis — nematode infection

Ozone hole over antarctica appears
during :

(1) Spring
) Summer
(3) Autumn
(4) Winter

A bus moves over a straight level
road with a constant acceleration a. A
boy in a bus drops a ball outside. The
acceleration of the ball with respect
to the bus and earth are respectively :

(1) aandg
(2) a+gandg—a

a? +g2 and g

3)

a? +g2 and a

4)

From an elevated point A, a stone is
projected vertically upwards. When
the stone reaches a distance h below
A, its velocity is double of what it was
at a height A above A. The greatest
height attained by the stone is :

h 2h
M < @ <
5h 5h
'y @ 3
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186.

187.

188.

189.

@) Ya’+g® TMa 4

e § S W Red & g AR @&
X HUT F ST BH T ¥ I TR

g AR hgh i cgam ¥ a9 5w
hh@Aﬁhmm%%ﬂégﬁ
2 o B TR BN 9 feen S
2l

h 2h
1 = (2) 3

h 5h
(3)—4— (4) 3

s
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190. A block of mass m is suspended 190. m ZFHNE & TH TH a9 ZeEE R
through massless spring balance as FHHEIETT qem g ﬁ‘l’ﬂT@'ﬂT( oCHT BAT g
shown in figure : ' g
&1 The reading of A is greater =~ <% L T AH qrZAE g B d
than B H T e L
(2) The reading of B is greater 5 (2) T B F 9IgqH ger C g
then C ; 8 ﬁ AR 3 ﬂ
(3) The reading of A is maximum § - (3) T AW UZTE HAfAHIH M
(4) The reading of A, B and C are © !I (4) gﬁl A B3CH m e
same rn 'Hqﬁ 2T m
191. If momentum of a given mass of body 191. 3f% f?fw?ﬁ Ffyea Zegar @l qxg &l T
is increased by n% then: - n% & Fe7 f&ar e &t
- -The kinetic energy of bo.dy (1) Ta S 2n% a0 SRERd &
changes by 2n% when n<5. _ ST i n<s B
(2) The kinetic energy of body | (2 TS S 2n% BRI gRaEfdd &
changes by 2n% when n>50. A g n>50 2
(3) The kinetic energy may be (3) Wfew ot feax 1 & w2
constant.
(4)- The kinetic energy must be (4) T Sor Reav s@em w =ifRw
constant. , S : :
192. A piece of wood isA floating in water 192. el e § fgg o ® THel H TH R
kept in a bottle. The bottle is TeH X @ ¥ A9 B A T EW
connected to an air pump. Neglect the : .C'ﬁ?:T - %l R 9 #l cEEsfieEr @) :
compressibility of water. When more @3 R'QT ¢ g 9N EW 9hd ¥ Sk
air is pushed into the bottle from the o ag ahﬁ ST 9 m B TH aam
pump, the piece of wood will float ar ‘
with : ; e .
(1) Larger part in the water. (1) g A 4l 9T e BT i
(2) Lesser partin the wéter. (2) 9T ¥ g4l 9rT 4 Goil
(3) Same part in the water. (3) U 7 B ¥ 393 9 99 ?ﬁfl
(4) Will sink to the bottom. (4) 72 o ¥ S|

NTSE(Level-1) Exam. Nov. - 2016




193.

194.

195.

The weight of an empty balloon on a
spring balance 1s w,. The weight
become w, when the balloon is filled
with air. Let the weight of air it self
be w. Neglect the thickness of balloon
when it is filled with air. Also neglect
the difference the density of air inside
and outside the balloon :

(D
2
(3)
(4)
A sphere 'A' is placed at frictionless
table. Another sphere 'B' is suspended
as shown in figure. Both the spheres are
identical in all respects. Equal quantity
of heat is supplied to both sphere. All
kind of heat losses are neglected. The

final temperature of A and B are Ta and
Ts respectively, then :

@D @

(1) Ta=Ts
(2) Ta<Ts
(8) Ta>Ts
(4) data is insufficient.

Wy <wW,+Ww
Wy, =w,+w
Wo>w, +w

Wy <w,

A thin symmetric double convex lens
of power P is cut into three parts A, B
and C as shown. The power of :

a) AisP,Bis%

(2) Ais2P,Bis -I-;-

(3) Als—/BlsE

4 Bl|/C
@) AisP,Bisg
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193.

194.

195.

G AR B FAAET GO By W w,
¥ 9 TER # A A W AR L, A
w, 8 ST &1 3R ' # AR =R A
w B 9 TER #H AR 9 TER B
ﬁaﬂaa@w%m%m@f
81z far =y, @@

(eY)
(2)
3

4

Wy <W,+W
Wy =W, +W
Wo > W, +w
W, < W, s

?-A'ﬁmw%rf%ﬁ”ﬂawr@
g 3 T B H REER dehE
T B 1AM N BT TR Y TF 99 €
Mt T B g9 FS 4 o & gl
T B FE BN T B g M A T
B & & dOHE Ta 941 Tr 8, 9 :

D @

(1) Ta=Ts

(2) Ta<Ts

(3) Ta>Ts

(4) SRS T 78 2

U qq0 WA ad @ ot e P

2138 & Redt A, BT C F REmgER

HET T 2| a9 HHAT BN

(1) AS PTA B %

@ A% 2P aenBem%

(3) A?ﬁ% WB‘W%

(4) AFP mBaﬁ%




196.

197.

198.

Two points P and Q lie on either side
of an axis xy as shown. It is desired to
produce an image of P at Q using a
spherical mirror with xy as the optic
axis. The spherical mirror must be ;

P
X y
Q-
Converging and positioned with

left of P

(1)

(2) Diverging and positioned with
right of Q

(3)_ Diverging

(4) Converging, positioned to the
right of Q

If water at 0°C, kept in a open

container is placed in a large

evacuated chamber, then :

(1) All the water will vaporise.

(2) )All the water will freeze.

(3) Some of the water will freeze.

(4) Ice, water and water vapour will
be formed and ° reached
equilibrium at the triple point.

N identical cells are connected to
form a battery. When the terminals of
the battery are joined directly,
current [ flows in the circuit. To
obtain maximum value of I :

(1) All the cells should be joined in
& series

(2) All the cells should be joined in
parallel

Two rows of N/2 cells each should
be joined in parallel

VN rows of YN cells each should
be joined in parallel given that
w/ﬁ In an integer.

3

(4)
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196.

197.

198.

h C
W xy $ A A g P awr Q REmER
Ram ® 2 3R e 0o 3/ oxy @)
T oy Wt g P & iR Q R
T RErr ST q9 Merg g 2

P

X Ty
Q

(1)marﬁamPh=g%ma?rtu

feerey
(2) swEr qur Q 9y & I o feea
(3) Srgar
(4) ER qw Q fag & e WK
feere
3 T GR & A 0°C, AEH B
P Rt 93 Freafa s9 & @ R 9w
aq
(1) ERT 91 aredegd 2 S |
(2) | 9HEl H AT |
(3) IHH B feww M|
(4) I%, Ul g A H FAE 9 A
aar fguw fag W owmEenr oo
I
g &t
vﬂeﬁ% R
Ll I
%aaexm

|
QT
&

ﬁi%%z

(1) Hvﬁaa%vhmﬁgéif
@) & q9 T #9 F g3 8

(3) N/2 ¥ & & dfe, gEFR BN
% 931 g =ed

4) VYN & &1 JN iR gueR &9
¥ g2 8 =fed, afk VN oot s
8

P. T O,
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HROW HEL
199. Incandescent bulbs are—designed by
keeping in mind that the resistance
of their filament increases with the
increase in temperature. If at room
temperature 100W, 60W and 40W
bulbs have filament resistance Ry,
Ry, and Ry, respectively, then the
relation between these resistance is:
1 1 1
1) = +
Rigo Rao Rgo
(2) Rypo =Rgo + Reo
1 1 1
> >
Rygo Reo Rao

(3)

e 2 B oo Ry @ e
¥ dgar 2| 3 F F 99 W 100W,
60W T 40W T & WY HH:
Ryop Reo T Ry & @@ 37 sfadel &
= B :

1 _1 1
Rigo Rso Reo
Ryo0 = Rao + Rgo

1 S 1 . 1
Rigo Reo Rao

(4) Rygo > Rgo > Rao (4) Rypo > Reo > Rao
200. A uniform chain of length ! and mass 200. | TEE m ZOAHN @ TH W AT T

m is placed in a smooth table with gao T A9 W d & e
one-fourth of its length hanging over fes I9 & e |/ @eEl B |
the edge. The work that has to be TR T R A B FW dH 7 A
done to pull the whole chain back into T HE BT
the table is :

1 -
1) — mgl 1) —
()lemg ()16mgl

1 1
2) — 2) — mgl
()32mgl ()32mg
@ = mgl @ 3 mel

1
4) — mgl (4) n mgl
v
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Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below : :

O e & &

The answer will be treated wrong, if it is marked, as

givenbelow :

O ® © &

If you fill more than one circle it will be treated as a
WTong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answert Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet, Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, .without special pern¥ssion of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.

Since the time allotted to the three parts of this question-
paper is very limited, you should make the best use of it
by not spending too much time on any question.
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